SH4E11AS

FEMERLSIGHEFEERS

WERSEEES |AXILAEEHESEES ek A PRI — A% B ZE IR 3T AL 5> Hh e £ M ER AT TE Hh KIGEMRERT AL #E517FES
BT M E RS 15,000 m2 1B S 114,100 m3 WKL 28 HE K —bF
1. SRR 2 KEBEZEDRKR
wrpmEms (EERAS | 8 o EH RIS | BREAH | #E8 | AEE | KeE

- == ’B’Erﬁ = ’BE’% s ’15@’% ESicE®R EF (@) R4.11.17 R41121 | 66 ms/m
§ 1‘3"?‘;8 8 ‘*508 8 12’?28 8 i (&1 I AC3:) R4.11.17 R41121 | 74 me/l

’ ’ T
g g'ggg 8 508 8 g*ggg 8 XK |BRIEER TR (&) R4.11.17 R411.21 [420 ms/m
3 2258 8 508 8 2758 8 Bt a4> TR (&) R4.11.17 R4.11.21 (290 mg/I
8 0 0 500 0 500 0 NI PO N . .
9 13500 0 1000 ol 14500 0 KEATVEE SR EERNSE | R4.11.09 R4.11.10 7.9 (13.2°C) |5.8LLEB6LLTF
LS 2 o S 3 W |emirnmerne | SEDEENNE | RA11.17 RA1121 | 27 me/l | 20me/ILAF

’ ’ =

JIL

]g 8 g g g g 8 X |zemes EEIRENSE | RA11.09 R&T110 | 74 me/l | 10mg/ILlTF
]‘5‘ 12*288 8 1*008 8 12*288 8 =% SIARMINME | RA11.09 R41110 [647 me/ | 120me/ILLTF
16 9,450 0 1,500 0| 10,950 0 =T ]
17 1,800 0 0 o[ 1.800 0
18 4500 0 500 o[ 5000 0
19 0 0 0 0 0 0
20 0 0 0 0 0 0 3. Z DDk
21 2.700 0 500 o[ 3200 0 -

y ’ 5 ) ~
22 17.100 0 0 0| 17.100 0 HHE mIRA Kk 1 =
23 13,050 ol 1.000 o[ 14050 0 " —
24 1,800 0 0 0| 15800 0 HeES R4.11.17 A
25 0 ol 1.000 o 1.000 0 : —
26 o o 5 o 5 o EKTZ R4.11.17 &
27 0 0 0 0 0 0 —— —
28 8,550 0 500 0| 9050 0 SR R4.11.17 A
29 17,550 0 0 ol 17550 0 - o —
30 8.100 o 1000 o 9.100 0 "‘Hj*_miiﬂ"ﬁ X RA11.17 A
31 0 — 0 — — — KR IRE 40m3/8 WIEFHE BEMESGE+FRELBREZ A 8%+ ES
&It | 178,200 0| 12000 0 190,200 0




